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HH2012N Germany from Wilhelm II to Hitler
REASSESSMENT
Seen Exam Paper, Semester 2, 2013-2014

Candidates must answer TWO questions.

1. Why did the October reforms of 1918 fail?
2. ‘A Republic without republicans.’ How accurate is this assessment of the 

Weimar Republic between 1919 and 1930?
3. How successful was Stresemann in revising the Treaty of Versailles?
4. Was the NSDAP a revolutionary or reactionary party before 1933?
5. How popular was the Nazi regime in the 1930s?
6. Analyse the role played by the SS in the Third Reich.
7. How far can it be said that the Nazis established a ‘New Order’ in Europe 

during the Second World War?
8. Was Prussia ‘the source of the recurring pestilence’ (Churchill) during this 

period?
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